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Exercise 1

For the following network, determine currents 14, Is

and voltage V2. =

Given:R1=6.8KQ;R2=18K);R3=2KQ;R4=8.2KQ);
E=12V.

Exercise 2

Determine all the currents: la, 11, 12, 13, Ib a

R, A

—
o0 b
)

and Ic and voltages: Vab and Vbc.

Given:R1=9Q;R2=6Q;R3=4Q;R4=6Q;
R5=3Q;R6=3Q; E=16.8V. g
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Exercise 3 =

Consider the circuit given below, calculate the indicated currents: 15, Is and voltage V7.
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Given:R1=4KQ;R2=8KQ;R3=12KQ;R4=24KQ;R5=12KQ;R6=12KQ; R7=9KQ; E=72V.
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Exercise 5

Using voltage divider find the voltages: Va? R, Emu

Vb? Vc?. ,

Given: &

R1=100;R2=200;R3=30Q;RL1=20Q; EZv R 30 R, 3!
RL2=20Q;RL3=20Q; E=120V. L R S

Exercise 6
In the following network configuration. Find oy
the current and voltage drops through R3
resistor R2 by using superposition theorem. R2
y g superp [ W - @ &
Given: R1=1Q, R2=5Q, R3=4Q, R4=2Q, 12
11=1A and 12=2A 1@ o
Exercise 7 ot

For the following two circuits, give the equivalent Thevenin diagram between points A and B.

L R‘lj 5”@ g RS 5“"%

1) 2)

2 2023/2024



Exercise 9

Consider the figure bellow, use Millman’s

theorem to find the current through the R3
resistor. R, | () R, 6

Given: R1=1Q, R2=6Q, R3=2Q, E1=5V

a.nd E2:10V f:-l __|—_,;' \'I".I _ll_‘l'_;-.l —— ] “ Il".'ll
Exercise 10 -
Find Norton equivalent circuit at terminals a-b.
R1 R2
W * et * $
E L 8‘% % R3

- - &
Given: R1=3Q), R2=3Q, R3=6Q), E=15V and I1=4A
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Homework

Exercise 1
11
Using the superposition theorem, give the expression of Ri ,
the current I1 in the term of Ri, R1, R2, E and J. R1 J 1?:* 3 R:
E _|_ h
Exercise 2 R
I o
For the following circuit: M *
30

1) Find the Thevenin equivalent circuit for the
network in the shaded area of the network. _
_ Ey===9V H,éen gh’,
2) Find the current through RL for values of 2 — -

Q, 10 Q, and 100 Q.
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